EARAROBREBRT —5 XN—ZXBISH—F

2022478338 (B) 2018526

12R k) A

1ISA T8

‘(fﬁ} W ‘[%EH?’JF&] ~ | & 150 =

[~E%] 17%&:7,700,000 § ~ 23:3,100,000 .~ 37 :1,900,000 437%&:1,200,000 5 3&:770,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= N ATt :08. - . . BT (ERH)
115|9 | ZA9YT7A47 300 1(@)0 N R R 21_423) 2HEY
R:aAN/UwF— B:FLASIVITIL FIRBUS
4 3 | EEEAE 1:08.3 3-3 36.7]95.2 | 6 40 |HS®&E GEH)
21510/ AY2D 52.0 Q) o |Meh
RPIPITRAFVR B§:Ja5—L ENEEL e
~ — = it 4 | AENEEF 1:08.7 6-4 36.3] 91.5 | 12 | 438 |#AEE EH)
311 |PVYIT1=7« 55.0 @172 © |, @) #BEL—2K—2
R—5—yvF B4 bO9T7Y3Y HEI7—L4A
o5 - s 3 | JIHRSE 1:09.1 1-1 38.0| 88.3 | 5 | 440 |HHESR ERH)
41815 RAVvHALY 52.0 2172 (-6) JEFREA
R:ALVYISvIEL B:eEYIv L ASARI W b
=~ » J\FAE :09. - . . HEEEAl (B8
FSYEIAHT Y 4 3 PN 1(70?:)2 7-7 36.7| 86.7 | 7 (ﬁg) Rl
RUFVF =R BIVHYTI4—5 BEZI Y R
8 s 4 3 | BHER 1:09.3 5-4 37.0| 85.7 | 3 | 468 |®ZFBL G5R)
TAFIT4T7 Y 54.0 (3/4) (+12) | HREEZEA
R:Ryd—9ILYI B:FzU—y Il TRARAR BRI
~ FEN :09. - . . e (S
®v1032 o6 REN 1(/(\)%3 13-12 | 35.8] 85.9 | 10 (5_220) EE‘;{T
R:T—URPU2—)L BiARZRILTYVIY R4S
W s 5 | NHEEE 1:09.4 8-7 36.7| 84.8 | 11 | 448 |BWE EH)
LURSwY b .0 (3/4) o) | (B FEDHE
RiTSVIIAL RN B:F—ILIA LR~ it
o ~ FR—18 :09. - . . HMUKERF (3E5)
O (T X L R A
RIAEIWN—T B:ILFTS5=— BRSH B RU—Rh—RSVF
= 3 ERER :09. - . . BAE ()
101714 ANy FvHF ® 3| BY 1(90?1? S R Rl B (372) ERHE
RiNZ—ka1—X B:7U— EIN e
~ o5 | EREA 1:09.6 9-9 36.6| 8.0 | 9 468 | KTOBRY (58)
118 g | ALZ > [B] 57.0 (3/4) Gy | () HEBL—AK—2
RIFVIAXNXN BINAUU— BHT7—L
3 4 3 | PIFEX 1:09.7 15-14 | 36.1 | 82.1 1 512 | KTIERE (558)
12|/7|13| PAT¥ 3D 54.0 172) o |ZER—
R:FAIAIv— F:IEI—Ta bk e
< RHIEE :09. - . . EEE—ER (ER)
138116l TYF v FUEX 4% 6 e 1(3(1/%1)5 12-12 | 36.4| 81.1 | 13 (4_1?(3)) el
RFUBARIVR B:/— M7V Ya RHT7—L
s o =D KBITHE :10. - . . IR (58)
14112 | @2RY vV~ [B] IR A B B A el B B e
RIRNIVIRTAvIIFUTP— BFtx/N\F =l
=/~ 4t 4 | KEVEEL 1:10.9 10-10 | 37.6| 71.3 | 15 | 456 |KEB— &)
15MR 12| 7T ARTATS ) A53.0 A 3/4) (1) | EIHEAER
RFPIPITRATVR B:TIATF4TFF 4 11225
—g o [ DI = - = = = E= (%
*% 3 I VY [B] 5 2 Eltal%*er (B94) 5(8§) %ﬁﬁﬁ =R
KRiN40 B:yoJdzIbdoa hARHi5
[ BN
En'w 47.9-36.9
NOVFA L | 9.4-10.7-11.0-11.9-12.4-12.6
@ 11— —B&IEfI
13— —
20—F—
30—7— 15-9,10-14,11,1,5,4,8-(6,12)16(2,7)13 3
43—73— [15,9,10-(1,11)14(4,5)8-(6,12) (7,16) (2,13) 3
0 ILRE
BB 9 5904 JA R 9-10 1,490M3 e B 5-5 4,770M 3EE 1-9-10 88,1004
B B 9 240M4 1-9 7,200H 5 & 9-10 4,770H 3EH 9-10-1 310,350
10 400 1-10 12,1904 =51 9-10 7,080
1 1,680H4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




